UlTians

(Civil Engg, Brﬁnch).

BASIC MECHANICAL ENGINEERING

(CE—104)

Time : Three Hours

Matnm um Maﬂcy 60

) Why brake power is always less Lgan mdxcaxeé P@m

A

Bl C engines ? \/«;\,«‘\ f
Define steady state heat trmfﬁf i W"
Mostly beds of machines are made o cag-xro&

What is the function of riser

"y

Describe the working of Lwcarshkebmw




composite: wall. il | | O :

[2]

(b) Determine the amount of heat, which should be

- supplied to Z kg of water at 25°C to convert it into

steam at 5 bar and 0-9 dry. ~ A ; 9
_ AR
(a) Write down the ngu:xie of various boiler accessories and
describe their function.. - X KE
(b) ‘Define dryness . fraction. Explain separating an}
throttling calonmeter method to determme dryness
fraction of steam. . e S

(a) Drawneat diagram of 2stroke pctrol eng;me and explain
1its working. ! 5
(b) 0-3 kg of nitrogen gas at 100 kPa and 40°C is contained
~ inacylinder. The piston is moved oomprcssmg nitrogen
untill the pressure becomes 1 MPa and temperature -
becomes 160°C. The work done during the process is
30 kJ. Calculate the heat trz‘msfcrred from the nitrogen
to the surroundmgs Cy for mtrogcn (}*7 K

Or

(a) Dxffcrent}ate between petrol and dlcscltcngmcs ' -4
(b) Write down. the statements of second law of
thcrmodynamlcs and explam them. - ,‘ S'/

I(a) What are the-vari us modes of heat/;a{fer ? Exp

each in brief

(b) Describe summér air conditiQnin

Or

.erte Fourier equation of conduction- and dg,nve an

expression for hcat transfer by conductxon through a.
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